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1 B R4RE REFE fii =
. .o 28,200 35,000 [EjrERERI OV & 100 A + 50R7 100 = 15,000 H
Joaq4 K
HINMEIrb—F AR 120 A + 60 R7 100 = 18,000 M
EIMRIr AR T h—F Ak 20 A 100 = 2,000 A
HERES 500,594| 412,500 [JL—ILTvoHK 4 i 1,600 = 6,400 M
ErEERIOvIT:E R—ILf 400 Ek 265 = 106,000 M
HINEEZEIDUTILA R—ILR 400 Ik 265 = 106,000 M
TY=vik =l 12 Bk 200 = 2,400 M
HINMEIrb—F AR R—IL 320 Ik 265 = 84,800 M
TY=vik =l 24 Bk 200 = 4800 M
HIMEI AR T R—F A2k R—IL 140 Bk 265 = 37,100 H
" SAT=T(TRED) = 15,000 M
Z Dthfw & BER (ENRI. B4R, B &) = 50,000 M
BiEE 660 1,500 |#RAFHH(Toa10R)) = 1,500 M
BHEMRE 0 12,000 [AREHE FHRERREER 6 A 2,000 = 12,000 M
& b 181,680 [ 205,000 = M
EriEERIAVIFiE = 55,000 F
EEEIMRI VT ILR = 55,000 M
EIMEJIrb—F Ak = 55000 M
BHINMEIr AR T R —F Ak (F31K) = 40,000 F
SHE 48580 [ 78,000 [EjrEMEIAvHFiE = 10000 F
EEEIMRI VT ILR = 20,000 M
EIMEJIrb—F Ak = 20,000 M
FZRITATA/INIL = 10,000 H
BB S (A A = 8,000 M
BIMEI AR T R—F A0k = 10,000 M
mEE 210,000 | 172,000 [EjirEFARIOVIFE FHH EF#A500 M 16 A 2 H = 48,000 M
EEEBIMEIO VT ILA BHE BEEA500 A 6 A = 24,000 M
BEE/IRIrs >0 )V RGBS = 100,000 M
HINMEIrb—F AR T BF#2500 A 16 A 2 B = 48,000 M
BEIMRIr AR T —F AR EF4A500 A 6 A = 22,000 M
Tt 25,006 35,000 =
& i 994,720| 951,000




